

$$g_r^{\omega} = 1 \cdot \omega = \frac{r}{y} \quad \frac{1 g_r^{\omega}}{g_r^{\omega}} = \frac{\omega}{\omega} \quad g_r^{\omega} = \frac{\omega}{\omega} \quad \frac{g_r^{\omega}}{g_r^{\omega}} = \frac{1 + g_r^{\omega}}{1 + g_r^{\omega}} = \frac{\frac{1}{\omega}}{\frac{\omega}{y}}$$

6

$$\frac{1}{r} (g_r^{\omega}) = m \quad r m = 1 + r g_r^{\omega} \quad \frac{r m - 1}{r} = g_r^{\omega}$$

$$g_r^{\omega} = \frac{1}{r} (r + g_r^{\omega}) = \frac{1}{r} \lambda \left(\frac{r m + 1}{r} \right) = \frac{r m + 1}{r}$$

7

$$\left(\frac{r}{\omega} \right)^{m-1} = \left(\frac{\omega}{r} \right)^{m-1}$$

$$r m = -r m + 1 \quad r m + r m - 1 = 0$$

$$\left(\frac{+1}{r} \right)^{-1}$$

کدام اول است

$$g_{\omega}^{r \times \frac{1}{r} + 1} = g_{\omega}^{\omega} = \frac{r}{\omega} g_r^{\omega} = \frac{r}{\omega}$$

8

$$\frac{1}{r} g_r^{\omega} = \frac{r}{\omega} (1 + a) = r + r a \Rightarrow 1 + a = g_r^{\omega} \Rightarrow a = g_r^{\omega} - 1$$

$$\Rightarrow \frac{\sqrt{b}}{r} = r \quad b = r^2 \quad g_{\omega}^{r \times r - 1} = 1$$

9

$$\frac{+b}{+ra} = s \quad \frac{1}{s} = g_r^{\omega} = \frac{ra}{b}$$

$$ra = c + b$$

$$ra - c = b$$

$$g_r^{\omega} = \frac{ra}{ra - c} \Rightarrow \frac{1}{g_r^{\omega}} = 1 - \frac{c}{a}$$

$$\frac{c}{a} = \frac{1 g_r^{\omega} - 1}{g_r^{\omega}} = g_r^{\frac{1}{g_r^{\omega}}} = \frac{r}{r} g_r^{\omega} = g_r^{\omega}$$

$$-r g_r^{\omega} = \boxed{\omega}$$

10

(\frac{r}{\omega})

0.01 0.02